7 General dimensions

7.1.10 RPFI-(1.0-2.5)FSN2E - Floor concealed type

€ RPFI-1.0FSN2E - Floor concealed type

No.

© o N o a A O N

N =N PN
N = O

13

848

HITACHI

Inspire the Next

12
) 706 ) 72 22 51
‘ 13 es
‘ 1 4 o
a+ + + -
Lt 3 %
133
B * L
5 e 6 5 o
0 .
| E 7 52 i 2
1 F s Erk
<3
32 m
i | § —134_|
28 I T \%\1 Lo t]
36 704 B ‘ ‘ 36 85 60 |
754 103
8
A
7
10 B 9
754
m| 0 7/l 8
- § i
A
i i
5 o XEKS1241
Description Remarks
Air inlet
Air outlet

Refrigerant connection (gas)
Refrigerant connection (liquid)
Drain connection

Drain pan

Holes to fix the unit to the wall
Adjusting screw

Holes to fix the unit to the floor
Holes to fix the unit to the floor
Electrical box

Evaporator

Filter

All measurements are in mm.

183

TCGBO0077 rev. 0 - 11/2012

TCGBO0077_v0_11_2012_CS4.indb 183

Flare nut. 12.7
Flare nut. 6.35

(4x) 214 (behind)

For the installation

(4x) @7, bolts for wood (4x) M5
(2x) 212.5x18, bolts (2x) M8

21/12/2012 14:29:19



7 General dimensions

€ RPFI-1.5FSN2E - Floor concealed type

HITACHI

Inspire the Next

1S5S
220

831

620
315

114
100
\

P

879

Hln
315

857 50

No. Description
1 Air inlet
2 Air outlet
3 Refrigerant connection (gas)
4 Refrigerant connection (liquid)
5 Drain connection
6 Drain pan
7 Holes to fix the unit to the wall
8 Adjusting screw
9 Holes to fix the unit to the floor
10 Holes to fix the unit to the floor
1 Electrical box
12 Evaporator
13 Filter

All measurements are in mm.

184

TCGBO0077 rev. 0 - 11/2012

TCGBO0077_v0_11_2012_CS4.indb 184

13 ‘ 64
! 4
f
e,
= S
0
52
ik
| 32
\%\1
| i
B ‘ ‘ 36 103
10 B 9

879

85 |60

973

13 XEKS1242

Remarks

Flare nut. 12.7

Flare nut. 26.35

(4x) @14 (behind)

For the installation

(4x) @7, bolts for wood (4x) M5
(2x) 12.5x18, bolts (2x) M8

21/12/2012 14:29:19



7 General dimensions HITACHI

Inspire the Next

€ RPFI-(2.0/2.5)FSN2E - Floor concealed type

A
21 1223 ¢
= 4 4 T — e
i !I'g|||m......m|||IIIIII||||||||||n.‘ % S
12
1081 N 72 122 51
13 lea ‘ ‘
I L 4 52
+ + + — ==
Lemt 3 égé
133
- + + + + =
i BE 6 o
g v,
2 i 52 O 2
| R
32 g 2
s/ B I L.ZL g g
36 H 8 1079 B ‘ 36 85 ‘ ‘ ‘60
1129 103
11 5
7
A
7/ B
10 1129 9
1 8
: E
JJ
A
i i ] 7
1107 50 XEKS1243
No. Description Remarks
1 Air inlet
2 Air outlet
3 Refrigerant connection (gas) Flare nut. 15.88
4 Refrigerant connection (liquid) Flare nut. 6.35 RPFI-(2.0), 29.53 RPFI-(2.5)
&) Drain connection
6 Drain pan
7 Holes to fix the unit to the wall (4x) @14 (behind)
8 Adjusting screw For the installation
9 Holes to fix the unit to the floor (4x) @7, bolts for wood (4x) M5
10 Holes to fix the unit to the floor (2x) 212.5x18, bolts (2x) M8
11 Electrical box
12 Evaporator
13 Filter

All measurements are in mm.

185

TCGBO0077 rev. 0 - 11/2012

TCGBO0077_v0_11_2012_CS4.indb 185 21/12/2012 14:29:20



